Total No. of Printed Pages—8
17 E—ECON

2017
ECONOMICS
Full Marks : 100

| sze : 3 hours

The figures in the margin indicate full marks for the questions

PART—A [/ 93—
( Statlstics for Economics ]

(w@ﬁmﬂﬁwm)

1. Answer the following as directed : 1x6=6

wore AR e Teg f
(a) What is meant by economic -activity?
wAfes F-Ie Iferes B o 2
(b) Data which are collected by the investigator for the

first time are known as primary data.
( Write True or False )

wﬁmmawxmwwmmmwﬁmﬂwml
(om =T o )

(c) Mention one source of secondary data.
¢ s BT BT AN Sewy 97
(d) Find out the mode of the following :
o BUR *[{] I AT ¥
1,2,3,4,4,5
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(2)

(e) Largest item — Smallest item = ?

Twey Y — fFey Wy = ?

() What is meant by statistical project?
“RARRI oresR 5 @ 2 |
2. In what way is Statistics heipful in Economics? 2
PR Revea SfRmre 12w 279 ieg 2
Or / &371
Mention two characteristics of Statistics. 2
ARRIR TB1 (3B Seary w4t | |

3. Mention any two advantages of diagram in data
presentation. 2

o s foas R e B AR S =
4. Find the median from thé following data : ' 2
T U RS TR e 41
10, 6, 15, 2, 3
5. Mention two characteristics of an ideal average. 2

e o1%q Y51 ¢S S v |

6. What do you mean by Lofenz curve? State one use of
Lorenz curve. - 1+1=2

e (91 3T R e 2 AR @9R @bl )R fie |
7. What is mean deviation? Mention one merit of it. 1+1=2

TS 5o 2 9 b1 Ry S 7

. 8. Distinguish between census method and sampling method
of data collection. 4

PR %S S T ~1afew Nrere <= NI B |
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O SURE IR Rerem I ST oo 4 -

16025 10 197 37 45 g5 g 46 09
29 33 32 13 2 46 35 25 17 39

Or / &y
Draw a histogram from the following : 4
il wﬁﬁa °RI @Bl ST I )

Wages (8] | 0-10" 10-20 20-30 30-40 [ 40-50 [ 50-60 | 60-70
TR (591) ‘ e

No. of Workers 4 10 14 1 22 32 15 3

AR w3

10. Whét 1is Scatter dia‘grain? )Draw a perfectly positive
correlation with the help of a scatter diagram. = . 2+2=4
ﬁ%v‘*‘rcffsaf%v aﬁﬁ#ﬁmwwwﬁmmm cez{eml

Or/wa =

With the help of the following data, calculate index
numbers for 2014 taking 2013 as the base year : 4

2013?@%1%«%9{@*?@ wﬁﬁawzommmw
5167 1 :

Commodity Price in 2013 (¥ Price in 2014 (¥)
T ¥ (5319) 2013 w1 (579) 2014

A 9% | 130

B 145 200

C . 100 145

D 180 275

E 85 “150
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11.

12.

13.

(4)

Find out the mean from the following data : 4
o SR /1 Mg Pefq 390 |
. Marks ~: 020 20-40 40-60 60-80 80-100
No. of Students : 5 15 - 30 12 8
RIG-RIGI 70T
Mention the necessary steps for developing a -project. - 4

o1 2 2FafR N AT TR ST 1 1

What are the measures of central tendency? Why is
arithmetic mean considered as ideal measure? Which
measure of central tendency is the most représentative?

' - 2+3+1=6

@mm@mﬁﬁvma«ﬁﬁwﬂmfmﬂﬁ@%@
W7 (TN 23T (WNEART (I WADIRSLF ARty 2 |

Or / =t
Calculate the standard deyiatibn from the following data: 6
et firl SRICAIRY <91 W fR6e A1 31

'Class Interval : 10-20 20-30 30-40 40-50 50-60

I S
Frequency .~ : 5 8 16 8 - 3
IRET!
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(5)

14. Find the correlation coefficient with ‘the help of Karl |
Pearson’s method from the data given below : 6

WWEWWWWWVW-W'@W
ey w1 - | S

X : 2 3 4 s 6 7 8
;Y, . :

Or/ g=r

Explain the meaning of index number. Mention' any four
uses of index number. , 2+4=6

PART—B / 98—
( Indian Economic Development )
(oW wetafes T )

15. Answer the following : | | 1x6=6

weore T Ses fim

(a) Mention one characteristic of Indian economy on the '
eve of independence. , o
20Fe-FRTOR RIS SRS ST b1 23 By 7 | o

(b) Name the body which formulates economic plans in |

India. '
SRS WA <RFE 2o 1 SKEB AN By |

(c) What do you mean by disguised unemployment?
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(6)

(d) Define globalization,
- CWW‘W igeal fiedll |
' (¢) What is-import substitution?
s Refiesd 72

() In which year did China Jaunch the Great Leap
Forward (GLF) campaign?

(@ 7S B9 Great Leap Forward (GLF) W= WIS

16. Mention ahy two benefits of Green Revolution. 2
cioe e R e 101 e Teay 391 |

17. State two common goals (objectives) of planning in India. 2
SR ARFER o1 TR W () B |

18. State two importar'it causes for decay of Indian
handicrafts during the British rule. 2

3foed AP SIRON TERER ST 151 eyl w B |

19. Give two arguments élgainst privatization in the Indian
context. : R 2
Iqeq 2 ETeFIR Reress wo1 I fon

20. Point out two indicators of human development of a
country. ' 2
R Q3 (PR Te S 151 o cryai T

21. What are the two types of poverty? | 2
R 2T wiRael & &2
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23. What s environment? - Mention three ‘causes . of
o ‘environmenta] ‘Pollution,

ﬂﬁmﬁs?ﬁmﬁ@%ﬁﬁﬁﬁmﬁ‘mﬁw:
Or / &gy

24. Mention four cayses of Unemployment in India, 4

25. What do you megan by human Capital? Mentjon three
Sources of human capita]. 1+3=4

%wwmﬁm?mwm%ﬁﬁ%wwww;
Or / ey

Write the meaning of infrastructyre, What are the two
types of infrastructure? :

wzﬁwﬁamfﬁwﬁmmz‘fﬁﬂﬁ%ﬁs?
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